HW6

Q27 By indution, e only need
to prove ot

}9 Q(x): Po+ @ XE -+ &.\X'H
g st o odewwed f L, then

/ -
-Q,(X): eh-’ + 807(_(, e émlf?(‘l /

. Y o, codewsd 9# C
g;m)ﬂso_ et) & a dm
C. Beawse C = oyd e,
e(X) must b A csdoword 5{

O, which dods © o antefiction
QED.

&'D“g S‘U‘PPDS( JQD 3 the 5»0«//%6
Siclnn 2. 4 V= oo Lo + 1

New Section 1 Page 1



Lhh Cﬂrf(‘»v(lc'ﬁS ~that ,Qo > the
Smlast such 0. RED

@Ci: ~{:”‘°/ 0’”@ Cw(ewwv( Z; &023

(+‘L) t 9% Cé&/)c QQ
:D QCM)é ([7/3) :> Cg Xy Cyc(ha

guppbfe gl geredtes (4
9.() genodtes Cs

C(a;ms 83”95—3 L C.M | q.(), 3;6%) )

Q‘B’l'e)’ﬁtﬁgg CB |



6@@%@& C 3

Pﬂ'fﬂi;——jl O;)r%l@() ’ mg(x)63(?()

G | M) g )
vH'[\Q 4 5‘9’ CD&{QWWA
s (Ga() belorgs T L

‘@I' Sigpuse. GOV € Oz

= Yglcx) [ &671)
4 () | G6)

= LM(4.9,5-8)) |6

=D ) om be witen as
My () 43 (%) ED

' =) 2
Q30 4o -T2 -9
/ﬂ RPN T M Ll L —



: mgogi bﬁ-b,z O, ! mm bo“tbz = |
—'\/D l)l{-bss O ;:i b]’HDS-:

b4*bs’: © ba by =
bg&b.«l; l bs+bq = p
bg/"tb‘?':[ b&*bw:(
bio by)=0 bq+bz|=0
bt bi3=0 b +b(4< l
Dia+bs= 0 b ths= |
Tn%?;;' b’o'%b{- =0 : )’nm : bo + b?-: ©
=0 | bixbs=0 _ by« bg= |
T batbe=0 i b= 0
b.b'&b‘]'—" D3 -%19))7::0
bg+ by =0 ba + b =p
b‘Hbzg‘( bs + bz = 0
blb&b[ﬁ,f—O by « bg =0
}Dtl{-sz:—o 13’1{‘2315-"/' (
"W.}‘égis—"

( ( ;

TNl ) I nn~n 70V ~ N 7 T T m—m—

New Section 1 Page 4



(601
> ) OO”JQ‘)” =X,
"8[_/ (]
IOD'DD V)
OD\(%OD D)
o

) mYQ:O
(3|
Gl: W(W\~Y—|)m)
6> R (¥ m)
One. -t

—_—



—

- 2 1 =1 ol v
féfo\ly‘ {b;-—* By oll ¢SUST

med_ D

m-l?\U S;'

= 2

Stnce \Su&\ém—l

)’Vl@é( 2

= 4.65) - 9-65)=0.



